6 Electrical Parts List

6 Electrical Parts List

-You can search for updated part codes through ITSELF web site.
URL : http://itself.sec.samsung.co.kr/

6-1 LS17MJILKS/EDC Parts List

Level Loc. No. Code No. Description & Specification SA/SNA
LS17MILKS/EDC 721N,SGL2/S17AK-LMJ,17,LCD-MO,NETHERLAND
0.1 M0216 BN90-00486D ASSY STAND;MJ17BS/GS17VT/GS17MS,EDC 1 SNA
.2 M0216 BN96-01063A ASSY STAND P-SIMPLE;- MJ15/17ASBS,- ABS 1 SA
.3 M0081 6003-001086 SCREW-TAPTITE;BH,+,- B,M3,L12,ZPC(BLK),S 4 SA
.3 MO0126 BN61-00822A STAND-BRKT HINGE;GS17VS,SECC,T1.2 1 SNA
.3 T0063 BN61-00825A STAND-FRONT;GS17VS,ABS HB,BK07 1 SNA
.3 STD BN61-00826A STAND;GS17VS,ABS HB,BKO7 1 SNA
.3 M0081 6003-000133 SCREW-TAPTITE;BH,+,-,S,M4,L8,ZPC(BLK),SW 2 SA
.3 T0054 BN96-04253A ASSY HINGE P;BI17BS,HGI T2.3 1 SN.A
01 MO0002 BN90-00641C ASSY COVER REAR;MJ17AS 1 SNA
.2 MO0081 6003-000337 SCREW-TAPTITE;BH,+,S,M4,L10,ZPC(BLK),SWR 4 SA
.2 M0013 BN96-01054B ASSY COVER P-REAR;-MJ17AS,- ABS HB,-BK 1 SA
.3 MO0113 BN61-00377A BRACKET-VESA;GOYA19"(193V),SECC,T1.0 1 SN.A
.3 MO0006 BN63-01209B COVER-REAR;MJ17AS,ABS HB,BK07,NONE 1.5 1 SNA
01 MO0001 BN90-01300D ASSY COVER FRONT;LS17MJLKS/EDC 1 SN.A
.2 MO0081 6003-001086 SCREW-TAPTITE;BH,+,-,B,M3,L12,ZPC(BLK),S 2 SA
.2 T0003 BN96-01997Q ASSY COVER P-FRONT;-,LS17MJ (721N),- ABS 1 SA
.3 T0245 BN61-01243A HOLDER-PCB;MJ17,ABS HB,BK07 1 SNA
.3 M0112 BN63-01208A COVER-FRONT;MJ17AS/BS,ABS HB,GR70 1 SN.A
.3 M0007 BN64-00288A KNOB-FUNCTION;MJ17,ABS,PC,GR70,SPRAY 1 SNA
.3 MO0105 BN67-00120A LENS-LED;MATISSE, ACRYL,CLEAR 1 SN.A
.3 MO0145 BN96-01111A ASSY BOARD P-FUNCTION;MATISSE,FUNCTION 1 SA
0.1 MO0112 BN91-00866B ASSY SHIELD;MJ17CSKS/EDC 1 SN.A
.2 T0081 6001-000346 SCREW-MACHINE;FH,+,- M3,L4,ZPC(WHT),SWRC 4 SNA
.2 M0081 6003-000117 SCREW-TAPTITE;BH,*,-,B,M3,L6,ZPC(WHT),SW 1 SA
.2 MO0081 6003-000276 SCREW-TAPTITE;BH, +,-,B,M3,L10,ZPC(WHT),S 1 SNA
.2 MO0135 BH73-60304G RUBBER-SUPPORT;152X,SILICON,5*7,60i &% 5 2 SNA
.2 MO0114 BN39-00244A CBF SIGNAL;BU15A0(T541A),15P/15P,20276-N 1 SA
.2 M2893 BN39-00513A LEAD CONNECTOR-LVDS;MJ17AS(BS),UL1571#30 1 SA
.2 M2893 BN39-00523C LEAD CONNECTOR;MJ17/19%,UL1061#28,ULICSA 1 SA
.2 M0145 BN64-00258A PANEL-SPACER;MJ17AS/BS,ABS HB,BK07 2 SNA
.2 CIS BN96-01059A ASSY SHIELD P;MJ17AS/BS,-,SECC T1.0,-,-, 1 SNA
.3 MO0107 BN63-01211A SHIELD-COVER;MJ17AS,SECC,T1.0 1 SNA
.3 M0412 BN63-01313A COVER-INSULATOR;MJ17,19AS/BS,PET,T0.35 1 SNA
0.1 M0017 BN91-01772M ASSY CHASSIS-ATZ,W/W;LS17MJILKS* 1 SA
.2 T0530 BH61-00006B SUPPORT-PCB;LS17MJ(721N),NYLON66 1 SA
.2 MO0174 BN44-00089B IP BOARD;IP-35135A (D),MJ17*3.2~4.8mA,6 1 SA
.2 MO0107 BN61-03266A BRACKET-PCB;710N(MATISSE17"),SECC, T1.0 1 SNA
.2 MO0014 BN94-014652 ASSY PCB MAIN-ATZ,W/W;LS17MJLKS* 1 SNA
.3 T0245 0202-001492 SOLDER-WIRE FLUX;HSE-02 LFM48 SR-34 S -, 1 SN.A

6-1



6 Electrical Parts List

Level Loc. No. Code No. Description & Specification : SA/SNA
.3 CN101 3701-001219 CONNECTOR-DSUB;15P,3R,FEMALE, ANGLE,AUF 1 SA
.3 CN330 3711-004712 HEADER-BOARD TO CABLE;BOX,9P,1R,2mm,STRA 1 SA
.3 M0081 6003-000117 SCREW-TAPTITE;BH, +,-,B,M3,L6,ZPC(WHT),SW 5 SA
.3 M0081 6003-000117 SCREW-TAPTITE;BH,+,- B,M3,L6,ZPC(WHT),SW 2 SA
.3 T0174 BN97-01779H ASSY SMD;LS17MJLKS* 1 SNA
A CIS5 0202-001477 SOLDER-CREAM;LST309-M,-,D20~458-,96.5Sn/ 1 SNA
A D101 0401-001056 DIODE-SWITCHING;MMBD4148SE,100V,200mA,SO 1 SA
A D102 0401-001056 DIODE-SWITCHING;MMBD4148SE,100V,200mA,SO 1 SA
A D104 0401-001056 DIODE-SWITCHING;MMBD4148SE,100V,200mA,SO 1 SA
A ZD100 0403-001411 DIODE-ZENER;-,5.49-5.73V,200mW,SOD-323,T 1 SA
LA ZD101 0403-001411 DIODE-ZENER;-,5.49-5.73V,200mW,SOD-323,T 1 SA
A ZD103 0403-001411 DIODE-ZENER;-,5.49-5.73V,200mW,SOD-323,T 1 SA
A ZD104 0403-001411 DIODE-ZENER;-,5.49-5.73V,200mW,SOD-323,T 1 SA
A ZD105 0403-001411 DIODE-ZENER;-,5.49-5.73V,200mW,SOD-323,T 1 SA
A ZD109 0403-001411 DIODE-ZENER;-,5.49-5.73V,200mW,SOD-323,T 1 SA
A ZD110 0403-001411 DIODE-ZENER;-,5.49-5.73V,200mW,SOD-323,T 1 SA
LA ZD112 0403-001411 DIODE-ZENER;-,5.49-5.73V,200mW,SOD-323,T 1 SA
A ZD201 0403-001411 DIODE-ZENER;-,5.49-5.73V,200mW,SOD-323,T 1 SA
A ZD106 0406-001061 DIODE-TVS;MMQA5V6T3,5.32/5.6/5.88V,24W,S 1 SA
A ZD200 0406-001061 DIODE-TVS;MMQA5V6T3,5.32/5.6/5.88V,24W,S 1 SA
s Q603 0501-002080 TR-SMALL SIGNAL;2SC2412K,NPN,200mW,SC-59 1 SA
A Q604 0501-002080 TR-SMALL SIGNAL;2SC2412K NPN,200mW,SC-59 1 SA
LA Q409 0505-001957 FET-SILICON;NTR2101P,P,-8V,-3.7A,0.0520h 1 SA
A 1C109 1003-001813 IC-LCD CONTROLLER;SE16AWL,PQFP,100P,20x1 1 SA
A IC112 1103-001023 IC-EEPROM;24C08,8Kbit,1Kx8Bit,SOP,8P,5x4 1 SA
A T0087 1203-003695 IC-POSI.FIXED REG.;NCP1117ST33T3G,S0T-22 1 SA
b T0087 1203-003696 IC-POSI.FIXED REG.;NCP1117DT18T5G,DPAK,3 1 SA
A ca14 2007-000070 R-CHIP;00hm,5%,1/10W,TP,1608 1 SA
A R100 2007-000070 R-CHIP;00hm,5%,1/10W,TP,1608 1 SA
A R101 2007-000070 R-CHIP;00hm,5%,1/10W,TP,1608 1 SA
A R102 2007-000070 R-CHIP;00hm,5%,1/10W,TP,1608 1 SA
A R103 2007-000070 R-CHIP;00hm,5%,1/10W,TP,1608 1 SA
s R104 2007-000070 R-CHIP;00hm,5%,1/10W,TP,1608 1 SA
A R105 2007-000070 R-CHIP;00hm,5%,1/10W,TP,1608 1 SA
A R245 2007-000070 R-CHIP;00hm,5%,1/10W,TP,1608 1 SA
A R270 2007-000070 R-CHIP;00hm,5%,1/10W,TP,1608 1 SA
A R107 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R108 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
b R109 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R110 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R111 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R112 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R226 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R227 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
s R228 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R229 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R231 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R233 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R239 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R240 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R242 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA




6 Electrical Parts List

Level Loc. No. Code No. Description & Specification : SA/SNA
A R243 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R244 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R247 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R248 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R249 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R250 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R251 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R253 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
s R254 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R255 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R610 2007-000074 R-CHIP;1000hm,5%,1/10W,TP,1608 1 SA
A R234 2007-000077 R-CHIP;4700hm,5%,1/10W,TP,1608 1 SA
A R124 2007-000078 R-CHIP;1Kohm,5%,1/10W,TP,1608 1 SA
A R225 2007-000078 R-CHIP;1Kohm,5%,1/10W,TP,1608 1 SA
s R257 2007-000083 R-CHIP;3Kohm,5%,1/10W,TP,1608 1 SA
A R130 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R201 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R202 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R205 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R208 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
s R209 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R210 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R212 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R213 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R214 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R215 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
s R216 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R217 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R218 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R219 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R220 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R230 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
s R605 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 1 SA
A R131 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R236 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R252 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R400 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R401 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
b R602 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R603 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R604 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R606 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R607 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 1 SA
A R410 2007-000109 R-CHIP;1Mohm,5%,1/10W,TP,1608 1 SA
s R106 2007-000821 R-CHIP;3900hm,1%,1/10W,TP,1608 1 SA
A R403 2007-000821 R-CHIP;3900hm,1%,1/10W,TP,1608 1 SA
A R113 2007-001164 R-CHIP;750hm,1%,1/10W,TP,1608 1 SA
A R114 2007-001164 R-CHIP;750hm, 1%,1/10W, TP,1608 1 SA
A R115 2007-001164 R-CHIP;750hm, 1%,1/10W, TP,1608 1 SA
A R126 2007-001164 R-CHIP;750hm, 1%,1/10W, TP,1608 1 SA
A R127 2007-001164 R-CHIP;750hm, 1%,1/10W,TP,1608 1 SA

6-3



6 Electrical Parts List

Level Loc. No. Code No. Description & Specification : SA/SNA
A R608 2007-002899 R-CHIP;100hm,1%,1/10W,TP,1608 1 SA
A R609 2007-002899 R-CHIP;100hm,1%,1/10W,TP,1608 1 SA
b C416 2203-000041 C-CER,CHIP;0.01nF,0.25pF,50V,C0G, 1608 1 SA
A c418 2203-000041 C-CER,CHIP;0.01nF,0.25pF,50V,C0G, 1608 1 SA
A €210 2203-000189 C-CER,CHIP;100nF,+80-20%,25V, Y5V, 1608 1 SA
A C109 2203-000236 C-CER,CHIP;0.1nF 5%,50V,C0G,1608 1 SA
A C106 2203-000257 C-CER,CHIP;10nF,10%,50V,X7R,1608 1 SA
A C208 2203-000257 C-CER,CHIP;10nF,10%,50V,X7R,1608 1 SA
s C209 2203-000257 C-CER,CHIP;10nF,10%,50V,X7R,1608 1 SA
A C204 2203-000426 C-CER,CHIP;0.018nF 5%,50V,C0G,1608 1 SA
A C111 2203-000998 C-CER,CHIP;0.047nF 5%,50V,C0G,1608 1 SA
A C100 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C101 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C102 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
b C103 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C104 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C105 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C107 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C130 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C200 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
s C207 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A c211 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A €400 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C402 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C403 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C404 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
b C405 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C406 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A c407 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C408 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C409 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C410 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
s C411 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A c412 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A C413 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C415 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C417 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C419 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
b C421 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C423 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A ca24 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C605 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C607 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C610 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
s C611 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C615 2203-005005 C-CER,CHIP;100nF,10%,16V X7R,1608 1 SA
A C618 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C619 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C620 2203-005005 C-CER,CHIP;100nF,10%,16V,X7R,1608 1 SA
A C420 2203-005065 C-CER,CHIP;1000nF,+80-20%,10V,Y5V,1608 1 SA
A C604 2203-005065 C-CER,CHIP;1000nF,+80-20%,10V,Y5V,1608 1 SA




6 Electrical Parts List

Level Loc. No. Code No. Description & Specification : SA/SNA
A C606 2203-005065 C-CER,CHIP;1000nF,+80-20%,10V,Y5V,1608 1 SA
A C614 2203-005065 C-CER,CHIP;1000nF,+80-20%,10V,Y5V,1608 1 SA
A C201 2203-005437 C-CER,CHIP;10000nF,+80-20%,10V,Y5V,3216 1 SA
A €202 2203-005437 C-CER,CHIP;10000nF,+80-20%,10V,Y5V,3216 1 SA
A C205 2203-005437 C-CER,CHIP;10000nF +80-20%,10V,Y5V,3216 1 SA
A C422 2203-005437 C-CER,CHIP;10000nF,+80-20%,10V,Y5V,3216 1 SA
A C401 2402-001128 C-AL,SMD;100¥iF,20%,16V,-, TP,6.3X5.7mm 1 SA
A C608 2402-001128 C-AL,SMD;100¥F,20%,16V,-, TP,6.3X5.7mm 1 SA
s C609 2402-001128 C-AL,SMD;100¥iF,20%,16V,-, TP,6.3X5.7mm 1 SA
A C612 2402-001128 C-AL,SMD;100¥F,20%,16V,-, TP,6.3X5.7mm 1 SA
A C630 2402-001128 C-AL,SMD;100¥F,20%,16V,-, TP,6.3X5.7mm 1 SA
A T0052 2703-001334 INDUCTOR-SMD;1.5uH,10%,2012 1 SA
A T0052 2703-001334 INDUCTOR-SMD;1.5uH,10%,2012 1 SA
A X400 2801-003326 CRYSTAL-SMD;24MHZ,30PPM,28-ABX,20PF,500H 1 SA
b T0568 3301-001145 BEAD-SMD;600hm,4516,TP,700hm/45MHz,820hm 1 SNA
A T0568 3301-001145 BEAD-SMD;600hm,4516, TP,700hm/45MHz,820hm 1 S.N.A
A T0568 3301-001145 BEAD-SMD;600hm,4516,TP,700hm/45MHz,820hm 1 SNA
A T0568 3301-001145 BEAD-SMD;600hm,4516, TP, 700hm/45MHz,820hm 1 SNA
A CN330 3711-005470 HEADER-BOARD TO CABLE;BOX,30P,1R,1.25mm, 1 SA
s CN330 3711-005543 HEADER-BOARD TO CABLE;BOX,6P,1R,1.25mm,S 1 SA
s T0077 BN41-00652C PCB MAIN;MATISSE2/GOYA2,STH,2L,MP1.2,1.6 1 SNA
A MICOM BN97-01774R ASSY MICOM-ATZ W/W;M-MJ17C7CLW-1000,(428 1 S.N.A
..... 5 1C520 0903-001397 IC-MICROCONTROLLER;WT61P4,8Bit,PLCC,44P, 1 S.N.A
01 BN91-01803A ASSY LCD-ATZ;LS17MJLKS/EDC* 1 SNA
.2 M0215 BN07-00329A LCD-PANEL;M170EG01 VD,Haydn,6hit Hi-FRC, 1 SA
0.1 MO0019 BN92-00411A ASSY LABEL;MO15ES 1 S.N.A
0.1 M0113 BN92-01136C ASSY PIMATERIAL;MJ17ASKS/* NEW SIMPLE 1 SNA
.2 T0376 6902-000379 BAG AIR;LDPE,T0.2,W1000,L1800,TRP,-,-- 0.002 SNA
.2 T0524 6902-000520 BAG PE;HDPE/NITRON(DOUBLE),T0.015/T0.5(D 1 SNA
.2 T0003 6902-000604 BAG WRAPPING;LDPE,T0.02,W500,L10000,TRP, 3 SNA
.2 M0081 6902-000609 BAG ROLL;LDPE,T0.05,W2400,L1000,TRP,-,- 0.1 S.N.A
0.1 M0003 BN92-02759W ASSY BOX;LS17MJILKS/EDC 1 SNA
.2 T0130 BN69-00761R BOX-00,SET;S/M72IN(LS17MJA),CB,SY-01,AY 1.02 SNA
.2 T0081 BN96-02895A ASSY MISC P-HANDLE PACKING;ALL MODEL,BN6 1 SNA
.3 M0103 BN66-00007A LEVER-TOP;ALL MODEL,LDPE,WHITE 1 SNA
.3 M0102 BN66-00008A LEVER-BOTTOM;ALL MODEL,LDPE,WHITE 1 S.N.A
0.1 M0045 BN92-02765M ASSY ACCESSORY;LS17MJLKS/EDC 1 SNA
.2 MO0027 BN96-01461A ASSY STAND P-BASE;-MATISSE15"/17" - ABS 1 SA
.3 MO0081 6003-000142 SCREW-TAPTITE;FH,+,B,M3,L8,ZPC(BLK),SWRC 6 SNA
.3 T0524 6902-000389 BAG PE;HDPE/NITRON/HDPE,T0.015/T0.5/T0.0 1 SNA
.3 MO0111 BN63-01489A COVER-STAND;MJ17,ABS HB,SVM-1148,GR70 1 S.N.A
.3 T0004 BN63-01490A COVER-STAND BASE;MJ17,ABS HB,BK07 1 SNA
.3 T0059 BN68-00473W MANUAL FLYER-CARD;Goya2 Stand Guide,Sync 1 SNA
.3 T0132 BN73-00077A RUBBER FOOT;MATISSE,BUMPON,"#13.5,T2.0,6 4 SNA
.3 CIs4 BN61-01435A HOLDER-STAND;CH,+,M4,L10(4),ZPC(WHT),SWR 1 SNA
.2 M0045 BN96-05669K ASSY ACCESSORY;LS17MJLKS/EDC,- - -,-,- 1 SA

6-5



6 Electrical Parts List

Level Loc. No. Code No. Description & Specification : SA/SNA
3 T0268 3903-000042 CBF-POWER CORD;DT,EU,FP3/YES,|IEC320 C13/ 1 SA
3 T0524 6902-000110 BAG PE;LDPE,T0.05,W250,L400,TRP,28,2 1 SNA
3 ACCESSORY | BH68-70448A CARD-0L;TFT LCD,SRC,RUSSIA,S/W,120,W210* 1 SNA
.3 ACCESSORY | BN68-00907A MANUAL FLYER-01,CARD;COMM,SAMSUNG, 18 LAN 1 S.N.A
3 ACCESSORY | BN68-01118A MANUAL-01,TC0O99 CARD;COMM,W/W,Mojo 100g, 1 SNA
3 ACCESSORY | BN68-01237A MANUAL FLYER-QSG;COMM,W/W(L12),Mojo 100g 1 SNA
3 M0215 BN96-03887C ASSY MANUAL P-IB+QSG;721N,-,SyncMaster,- 1 SNA
4 QSG BH68-00376L MANUAL FLYER-06,QSG;LCDQUICK SETUP GUIDE 1 SNA
s 1B BN59-00564C S/IW DRIVER-01,1B;721N,W/W,SyncMaster,Mat 1 SNA
3 ACCESSORY | BH68-00633B MANUAL FLYER-00,WARRANTY CARD;comm,Samsu 1 S.N.A




